REFBINZHEERMILR

ke = g 3 (x100) FHEIEE| SMTEE | SH2FEE | SHS3FE | SHIEE | BEE 2 EF
A& LR AHE - BERA | 52.9 % 51.9 % 55.5 % 31.8% 49.2 % 51.3 %
BEMRRELE BEMRRE - BREBINA 1 57.6 % 335 % 38.5 % 21.7 % 29.5 % 31.9 %
BEEREK BERE - BEINA 1 33.3% 45.2 % 25.1 % 19.0 % 18.1 % 13.7 %
BERFN T EFELE EXASHAAEE N EZE - F52FEHINA 1 -50.6 % -32.0% -3.0% 9.6 % 3.0% 34%
FEEFEEMGELE FINEINA + BEIA | 80.0 % 779 % 61.7 % 49.6 % 82.8 % 70.3 %
BB R BEINZ AR + BB 1 -47.1 % -32.0% -19.1% 27.6 % 31% 2.7 %
BEEHINE =R BEEHINE =5 - HWEFBHRA 1 -46.3 % -30.7 % -19.1% 27.6 % 3.1% 2.5 %
X BBINA = BEFEINAG + HEEH/NA
¥ FHmEZICOWT  [TEWMEPRW] [ EWMENRL] BARIERIRE - £FFEMART [SHEOREHE] ICL25MIEEFHELY
BERRERILER

ke = g 3 (x100) FHEIEE| SMTEE | SH2FEE | SHS3FE | SHIEE | BEE 2 EF
BRI E MEE - HEE 1 60.3 % 62.7 % 60.5 % 92.4 % 90.6 % 86.9 %
aEtE wag-HmaEE | 39.7 % 37.3% 39.5% 7.6 % 9.4 % 13.1 %

X FHEFEIRIC O LT
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